NpocBéoeic (B° Anuotikou - Evotnta 9)

BonOnoTte pe va ppw To GGpoiopal

4+1= 1+9= 6+3= 1+3=
3+4:= 2+3= 5+3= 7+3=
2+7= 5+5= 1+6:= 2+5=
6+4-= 4+5-= 4+2-= 5+4-=
4+4:= 3+3= 3+2= 2+8=

Karoloc gpwvaler «<BOHOEIA» W cival n 18éa pov;

20+10 = 70+10 = 30+30= 80+10=
10+ 50 = 20+30= 40+ 20 = 50+30=
40+ 10 = 30+40-= 60 + 20 = 10+ 60 =
4+6= 5+5= 7+3= 8+2=
14+6-= 5+15= 17+ 3 = 8+12=
34+6 = 5+45 = 57 + 3 = 8+62-=
7+3= 2+8= 1+9= 6+4 =
17+ 3= 2+18 = 11+9= 6+14 =
37+ 3= 2+28= 51+9 = 6+64-=
67 + 3 = 2+48 = 71+9 = 6+ 34 =
87 +3= 2+5H8= 91+9= 6+ 84 =




Ac ANooupe TIC KAOeTEC mPooOETeIC:

42 52 32 62 12 32
+ 8 +28 + 58 + 18 + 48 +28
35 45 15 45 85 65
+ 5 + 15 + bbH + 15 + 5 + 25
84 46 74 44 14 56
+ 6 + 14 + 6 + 26 + 66 + 34
73 67 77 43 73 57
+ 7 + 13 + 23 + 17 + 17 + 23
81 49 71 41 11 99
+ 9 + 11 + 19 + 29 + 39 + 1




